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(a) Taman matched data t =0.209, ¢ = 0.225, N = 284
MISR matched data t = 0.232, 6 = 0.228, N = 284
¢ . Taman all data 1 = 0.242, 6 = 0.265, N = 1491
‘AWMISR all data t=0.243, 6 =0.217, N =653

Taman matched data
@ Taman all data
= - -MISR matched data
= MISR all data

S S T o Vo N TSNS Y osnhoxR s —
S = S = = = = S = S
AOD, 558 nm

30

[\
[e)
I

Frequency of occurrence %
S
1

)
!

(b)Taman matched data t=0.210, c = 0.228, N =572
MODIS matched data t=0.186, c = 0.164, N = 572

"J%lman all data T =0.294, 6 = 0.252, N = 1863
=

Taman matched data
@ Taman all data
-. = . «-MODIS matched data
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